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Higher Secondary First Year Model Practical Examination - 2023
118 - Statistics

Time : 2% Hrs
Marks : 15

Each section has 5 Questions.
The students has to answer 4 Questions choosing two from each section.

Section — A
2X3W% =7

Determine the mean, median, mode and range for the given stem and leaf plot given below:
Stem Leaves
0 2

The Table given below shour the profit obtained before and after tare payment (in lakh of
rupees) by a business man on selling cars from the year 2014 to 2017
1. Construct a multiple bar diagram for the data.
2. In which year, the company earned minimum profit before paying the tax?
3. In which year the company earned minimum profit after paying the tax?
4. Find the difference between the enerage profit earned by the company before paying
the tax and after paying the tax.

Year Profit before Tax Profit after Tax

2014 195 80

2015 200 87

2016 165 45

2017 140 32

Draw a histogram for the following 100 persons whose daily wages (in ) are given below:

Daily Wages 0-50 50-100 100-200 | 200-250 | 250-450 | 450-500

No. of. Persons 5 10 16 7 48 14

Also find
1. The number of persons who get daily wages less than on equal to 200?
2. Number of persons whose daily wages are more than 2507

The following data attained from a garden records of certain period. Calculate the median
weight of the apple.

Weight in grams | 410-420 | 420-430 | 430-440 | 440-450 | 450-460 | 460-470 | 470-480

Number of apples 5 10 16 7 48 14
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V. Find out the mode of the following data:
Wages Below 25 25-50 50-75 100-125 | Above 125

No. of. 10 30 40 20 15
Persons

Section - B

The weekly sales of two products A and B were recorded as given below:
Product A 59 75 27 63 27 28
Product B 150 200 125 310 330 250

Find out which of the two shows greater fluctuatins in sales.

The Following data gives the number of students studying in XI std, in 10 different schools.
Construct a box plot for the data. 89, 47, 164, 296, 30, 215, 138, 78, 48, 39

Mr. Arivazhagan, Mr. llavarasan and Mr. Anbarasan attended an interview conducted for
appointing a physical teacher in a school. Mr. Arivazhagan has 45% chance for selection, Mr.
Ilavarasan has 28% chance and Mr. Anbarasan has 27% chance. Also the chance of
implementing monthly mass drill programme in the school is 42% if Arivazhagan is
appointed; 40% if llavarasan is appointed; and 48% if Mr. Anbarasan is appointed.

Find the probability that (If MD is implemented
i Mr. Arivazhagan is appointed as the PET
ii. Mr. llavarasan is appointed as the PET
iii. Mr. Anbarasan is appointed as the PET

Let X be a discrete random variable with the following probability distribution.
X -3 6 9 Find mean and Variance
P(X=y) 16 12 1/3

In a street of 200 families, 40 families purchase the Hindu newspaper. Among the families a
sample of 10 families is selected, find the probability that

I Only one family purchases the paper

ii. No family purchasing it.

iii. Not more than one family purchase it.
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GevBlensy (pHevmd Yewi® THM CFuipenpsd BCsitey - 2023
118 - yeiteriluisd

auy : Xl Geyw : 2% wemfl
& HUGuew : 15

@siGeur Ufelgibd 5 elemsbsst QETBHBLILLIQMHEBELD
@ellCeureifid Qyeti® elemebse 6IHD LTamIeNTHsT CLTHHD 4 ElaIMHHEHHES
alen_weflds GouawtBLD

2X3Y% =7
HpEHMIL. i - Qewevll  ugseledmbaH  Fyraf, QewLBlewev, (PHH, OiFsH
B IBEDBEH BTN,
H601(h B em6VEH6IT

&0 OamThdalulL S Laumeouled 2014 (wpFHev 2017 eusny HiTHein alBLenen GFuleude0

QM ouelld BUITEL 6aufl CFISHINSBG (Wi Llsienid (6 6 FHHle0) GumLLIL L
OTLGHMBHH ST (BB MBS

o0 (C] afld@ (WPhHmSBU 60TLID afld@ Lbmapwl 60mLILD

2014 195 80

2015 200 87

2016 165 45

2017 140 32

CuwBev OETEHBLILLL HIOSGU LevSL L UlemL elleNdhsll LILLD eIenIsH.

afl sLBUSBE (P& 61HH UYL DHBLILF 6UTLID HlewL SHGHI6iTengl?

aufl S IQUILTET 6ThdH UEMWTIQEDL GHEMMHSHLIL F 6VTLID HlemL_SHGHlemeng?

afl & (HousB@ et Leiyn ppeusrshader Fyrafl somusHder  elldbaHunsFid
HITETN .

BHHBHTEID Sl Leuenemwt 100  BUTHel6  Hlemdbamed  (qhUTUTIEL)  CBTHHSLILIL (BTG
@5BE& LUFaIed OFIeuBLILLLD CIMmTsH.

601 Fn 60 0-50 50-100 100-200 200-250 250-450 450-500

purseflsht 5 10 16 7 48 14
6T6U0T 6001 G561 &

Gosuid Lol HeIGIIBNMBE  HT6TIH.
I . 2000 SSBGHS GOBATEHAD (DHSBULFD h. 200) SHlendbamed GUEBID
IBLITEH61T60T  6T600T6001 561
. 50-5@& Bed Hebaned CUBID HLITHMET 6T6wT6w0TEHmB

Rm GCHTLHH0 alenenbyd lilensellsn sleml  efleugld  LleieUmHLD DI Luensmruied
ST (BeTengl. ylifedlesr Fyrafl slemLsnul Eeml_Hlemevulenenald CoTemi(B SHemrdbd [BHb.

6T6mL 410-420 420-430 430-440 440-450 450-460 460-470 470-480
(Bgmdlsv)
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LI T6TT8561T 601

cTsi e e 14 20 42 54

SIPHHTEID DL 6uenswiuiled 2 6iten eNeuHHBE WPHH SHmewl.

gnevl () <25 25-50 50-75 75-100 100-125

Qg mleomer

P . 10 30 40 25 20

Wifley — <
2X4 =8

@m swrilysefer - A B ufler surgnbsly alBusnen &6 CaTHHSULL (HETeNG.

sUTfiy — A 59 75 27 63 27 28 56

slwrfiy — B 150 200 125 310 330 250 225

10 OeusuGoupmenr UesTafdailed wuled 110 euGlL WTeweuTHeeln elewienldmas 89, 47,
164, 296, 138, 78, 48, 39 &L L eleN&bHLLLID elenIhEl 6l6mdhEHs.

10 ueieMufev 2 | B&eve S A usiuiL HFmsTen  CrTpssd  CHTadhd
Hm.  OPeupde, Hwm. QeneurFer, Hm. DUFFN  USCWTT  H6VHH  CEHTENIL 6.
H®. ofeupsst CHTHOHHEBLILBGSBHTeN UTUINIL 45%, HmH. SeneuFand@ euTuiliL
28%, LBE@ID HMH. STUFFISST urwil] 27%, Hd. Sipsleuwpder GHTbHoHBHHSLILL L T60
&LG o LpuuiBdl  (Mass Drill - MD) plawnsdow OGFweouBHH  surwily  42%,
Qemagaimib@d 40% & SUIFISE&  48%  eutully 2 efengdl.  MD  BlapEFS
CewsbLBSHSILLLT60 L6 eumeuseuBBB@ HHIDHBE] HT6ewIH.

i Am. sifalpser o | Baevel epdflugme Bunddésaiu
ii. A, SReneugsFen BHuidéaiuL
iii. A, iBLTFesr Hlundldasii

@ olem SHealbd eurwili ol SHPEHHEMIL  HHDHHe)| LJaIsNevd BTNy HbHMEH. 616360
Fynaf, WIBUTE  SHTeu.

X -3 6 9

P(X=y) 16 12 13

Rm OHmelsd 200 GOHLURIST aFlbHlamear. iFHed 40 GBLURSET @ GSBILILL
BToMGHMY  aUThHIGHSBIT.  H0HMmalasTen 10  GOHLUKIGST STl @ LTSI
CaHTHOHHHHLILBHMBEI 616360, SHIDHHEWIL  HBIPFHBEHHHT [HHDHB)| HTEWIH.

I @61 @m GOWUD 1 BID AHBTONHEMID UTHIEHED

ii. 61hHd GHBOLIPID SITRIBTIDED E([HHH60

iii. P GODLUSHBEG WOBTIOD EITHIGHSH0
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